LOANABLE FUNDS

· The economy always works at full capacity utilization, full employment

· Firm profit maximization and household utility maximization ensure equilibrium at full employment

· We have a barter economy C-M-C’

· Interest rate determines the division of total output into consumption and investment

· Money is neutral;
· Money does not matter 

· It’s a veil, lubricates market transactions. Solves the problems of double coincidence of wants

· Quation of exchange holds MV=PQ

· Money changes only trigger price changes

· Inflation is always and everywhere a monetary phenomenon
· Intertemporal substitution between consumption today for consumption tomorrow or leisure today for work tomorrow assumes perfect information of future conditions.

· IMPLICATIONS FOR THE INTEREST RATE

· It is a reward for patience (waiting), reward for parting with consumption. 

· A trigger for inter-temporal substitution. 

· The cost of borrowing, an indicator of productivity

· A real phenomenon, determined by the productivity of capital. 

· The equilibrium b/n savings and investment, i.e. the availability of loanable funds for lending and borrowing.

· The nominal interest rate = real interest rate + expected inflation

· i=r+p*

LIQUIDITY PREFERENCE

· Full employment is a special case
· Money is a real factor in production
· We have a monetary economy M-C-M’
· We start with money M (i.e. finance) for investment and we sell C (products) for more money M’ (i.e. monetary gain, profit)
· Thus money is not neutral, Money matters
· Because money matters and the objective is maximizing monetary gain, we compare the range of investments that can yield monetary gain (real vs. financial)
· The interest rate is then determined by the demand for cash and supply of cash
· To part with cash, the interest rate must offer high enough a reward
· Thus the interest rate is a reward for parting with liquidity
· Interest rate is not the sole determining factor in investment activity. The marginal efficiency of capital (MEK) is the other and more important factor for investment
· We compare the interest rate to the marginal efficiency of capital in deciding whether to invest in financial vs. real assets. If the interest rate is higher, rates of return on financial assets are higher, thus no new investment will take place.
· If the marginal efficiency of capital is higher, real investment is more lucrative. 

· During the Great Depression, the cost of borrowing (the interest rate) was very low. Bonds did not yield high returns, but the expected profit of real investment was so low, that bonds were still a more lucrative investment. 
· The interest rate is not a real, but a monetary factor. The real interest rate is a residual r = i-p*

